1.- Descompdn los siguientes nimeros en posicion y valor

VALOR:
342

POSICION:

VALOR: 200 +80 +9

POSICION: 2C+8D+9U

VALOR:
254

POSICION:

VALOR:

POSICION: 5C . 2 U

2.- Escribe el numero que corresponde a cada descomposicion.
a) 200+40+3 =i
B) B0 D i ssssisns
c) 3000+700+60+5=.cvevrriairannn
d) 200+ 2042 =.oomririceianns
€) 3400 + 20 =.ueerverrecereenrries

f) 4 C+3 D+ 9 U= viviiiiiiiiniimissesiniis

4 B DI o A L e —

JBC+3D+2U=...ccccciiiiricrancsns

3.- Completacon >, <, =

667 567 328 28

345 245 158 158
345 345 11.001 1.001
473 473 189 989
345 345 981 981




